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250 KEY TO ADVANCED ARITHMETIC.

(5) Gold bg. at i per cent, disc, £100 is bought for £99^

;

.-. £99i=$484.565,
add 3.634 for freight,

$488.20 cost of £100 in gold,

|497.77=cost of a bill of cxch. for £100,

.
$9.57= difference on $488.20

;

.-. difference per cent. = -r——- x 9-57=l-9, or 2, nearly.
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_5-3+ V2( V5+ V3)-2 V2 yS
(6)

vsV5+ V3

3V3 ~ V5-H V3+ v2~ 2v2( V5- V3+ v2)

_ 4/2^5- 1/24/3 + 2 _ V2( vr>- 4/3+ V2) 1

~2V2( V5- V'S+ V2) "^2
V2( v5- ^^3+ V2)~2"

(n 2+ V 2+ V~2) "N 2+ V 2+ V~2

=N 2+ i^ 2+ V~2]2-hi/ 2+ V~2-3[

=N 2^ V 2+ V~2 N 3+ V~2-2 4/ 2+ V~2

=\G-^2 .v''2-4 V 2+ ^^+3 V 2+ V~2+ V~2

[^"2 + 71-2(2+4/^)

=^\i 2- V 3-h V^+ 1^2 V 2+ V^

~nJ 2+ V^ 2+ V~2(V'^-l)

= n] 2+ V/ 2-t- V~2 V 3-2 V^

=n| 2+ V 2- \^.

(8) Discovint on £567 for one j'^ear at given rate is £•

.'. time required =:^j-^years=l^ years.
•2 I) 9

.^ p,_40 n2i_4J) 2^

. rfQin 40 235 ,^10 40 225 379 379 ^, . ^^
.-. £18 m9.=-x,-^xl82^=^X3-^x^=-^=$94.75.

(10) -et^:!^, 14.^.
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